Learning Task 7

20)

Losungsbeispiel ~ Photo A shows an astronaut / a man in a space shuttle. | think

2b)

Losung

2c)

Lésung

it is a selfie because he took this photo of himself to show us e i
that he is in space and what he looks like in his gear. ' 7"1
Picture B shows three young people who are taking a selfie.
They want to show.others where they are, what they're doing and that they’re having a lot
of fun. But | don't think the photo itself is a typical selfie because someone else must have
taken it.

Photo C is an old painting, not a typical selfie. It’s a portrait of @ man in old-fashioned
clothes. (1 guess it’s the portrait of the artist (Albrecht Diirer) himself (= a self-portrait), and
he painted it to show others what he looks like. So maybe we could also call it an “old-
fashioned selfie”)

1B (first sentence =-definition of selfie + Today ...) - 2 A (Firstly, ... = the first argument + (for)
example; Secondly, ...) « 3 D (On the other hand, ...; In other words, ...) » 4 C (To sum up, ...)

+ Sothey feel that selfies are a bad idea. = Paragraph 2 (A); at the end.

+ In my opinion, the critics can relax. = Paragraph 4 (C); at the end.

+ Although the word selfie is new, self-portraits aren’t. = Paragraph 3 (D); after the first
sentence or at the end.

* People started taking them in about 2002 with the first camera phones. = Paragraph 1(B);
after the first sentence.



